" 1 &)
st St wWi=H SH A E == SME Zo A2 & Hl
Zola (REXI
= HS & |2k et
1 LR1219| Wt DM (A=A NEEGE 5H10(Z100)
LR1219 igﬁrﬂg(ﬁzzag T 1]2]os 3H0(Z100)
DN8003 G:PEHﬁEE 22 1]Hdg= 27,8(F201)
N2I7|[HBIZAEX 2 | 2 [ 1]or20i 25,6(F201)
DNOOO2| Ol Of 281 A 2| 2| 1]0I200 £5,6(F103)
DNOO12| A=A 2| &t 33|10z 21,2,3(M305)
2 DNOO22| A X = N =&t 2 | 2 |1 ][00 23,4(M305)
2 DN8002[E A L = A EEEES 317,8(F201)
2 DNO219[Bt H A = 2 [ 2] 1]eed 29,10(F104)
2 ON9220[|2IS 2= 2 2 1]eed 25,6(M509)
2 FX0002[A XL = - 2EME|S 33 1]eed 3t4,5,6(R207)
3 DN8OO7 [Ell LI & A EEEES %5,6(F202)
3 DNO0T| B S pF e (AExH [ 11 1 [ 12N S11(F104)
3 DN9213 gg%lv%%(@ﬁ%aﬂ 2 | 2| 1|esd, a3 5}7,8(M305)
3 DNOO 15| 2! 2HHl A 2 | 2 [ 1T]2NE £7,8(F201)
3 DNOOZ7 |2 S X2 3|3 1[2NE =27,8,9(M305)
3 ONR2I2[AXXEHNLEZHI [ 3] 3] 1]0& =1,2,3(A501)
3 DN9221[/I0IEERI0IE A EEEES 47,8(F101)
4 DNOO45|2 S AGHITHEH(HAE | 3| 3 | 1 |Hd= =1,2,3(T306)
4 DN0047 gﬁ)ﬁ?&i T 212N 210, 11(M305)
4 DNB008| A I =SWEH= BEREEEE +5(G312)




